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0r. The data given below were collected randomly from the 25 members of a gym located in colombo.

ldentification Numtr* Gender Age Reason to to to Gym
01 M 27 Maintain fitness
UI F 44 Relaxation

Lose weight
n?

F 19
U4 F 27 Lose weight
u) M 57 Maintain fitness
Ub F 27 Build strength

M 39 Lose weight
U6 F 36 Maintain fitness
UY M 37 Maintain fitness
IU F 51 Build strength
I1 F 74 Maintain fitriess
I2 F 29 Build strength
L3 M 20 Mainfain fitness

Lose vyeightM 22
M 46 Lose weight
M 41 Bttild ctronc+h

17
F 2s Lose weight

Id F 46 Lose weisht T_.=-..--
1_9 M 30 Build strength

Maintein fitnessM 25
ZL F 24 Relaxation
22 M 39 Lose weight
z5 M 44 Relaxation
t4 F 48 Relaxation
t7 f 18 Lose ryeight

al

b)

using sPss' create a data file for the above dataset. Save the spss data file with the name, gym users_l
create Numeric codes for the nominal variable, "Gender,,, using Recode into some variables.Then use ,,volues,, 

toshow the meaning of the numbers

create a new variable by recoding the responses for the variable, "Reason to go to Gym,, using Automatic Recade.Name the new variable as ,,RC_Reason,,



d) create a new age group variabre which breaks the data into 4 groups as fotows, by recoding the variabre "Age" usir

Recade into dilferent voriable'

Age GrouP Betow 25 25 -34 35-44 Above

Code 1 2 3 4

Name the recoded new variabre as ,,RC_Age,,. Then uSe 
,,vqrues,, to show the meaning of the numbers' save the date

file with the same name gYm users-1'

el construct the frequencY tables for the variables: "Gender""'RC-Age" and "Reasons to go to Gym"' complete th

following tables using the frequency tables you obtained'

Gender

Reasons to go to gYm

k)

Using the a

Construct

spending

chart. Co1

Plot. Cor

1

The data for the fo*owing variabres also corected from the above 25 members: "Time spending on cardiovascul

equipment during tr," r.riuirit; (in minutes), '"ri'*" ,p"noing on weight machines during the last visit" (in minute

.,Time spendinu on orn",. uctives during the last;tri ri" minutes)' rrte Jaia were stored in Excel with the name' Ti',

Save the

the fold

A consr

promot

newspa

thousar

months

a) state tt

spent in gYm'

lmport the above dataset stored in

name, gYm users-2 in SPSS

Excer with fire name, Time spent in gym, into spss. save the data file with t

Mergethefilegymusers-zWithSYmusers-l.Savethemergedfilewithnamegvmusers-l.

using the compute command, compute the total time spent on the gvm by the members during the last visit' Name

thenewcomputedvariableasTotaltime.SavedatafilewiththesamenamegYmusers-l'

c!

i)

RC_Age

Maintain fitness

Find the summar! statistics for the variabre Totaltime by Gender: complete the fo'owing tabre from the output you



using the above measures, compare the distribution of totaltime ror ruate{and,remal&,J AUi: zu rj

k) construct the box plots for the variables, 'Time spending on cardiovascular equipment during the last visit,,, ,Time
spending on weight machines during the last visit" and "Time spending on other actives during the last visit, in onechart' copy and paste the output of box plots in a word document and save it with the file name Question 1 BoxPlot' compare the distribution of the three variabres using the box prots

el

save the sPSs output file obtained for question 01 with the name gym users-L and spss data file gym users_r. intothe folder q 01

{Total 35Marks}

A consumer products company wants to measure the effectiveness of different types of advertising media in thepromotion of its products' specifically, the company is interested in the effectiveness of radio advertising andnewspaper advertising' The sales of the product (in thousands of rupees;, the amoun, *"n, on radio advertising (inthousands of rupees)' and the amount spent on news paper advertising {in thousands of rupees} during the last 22months are recorded which are in the data file Advertise.sav

a) State the multiple;egression model fitted for the data

t
rlqrt
rt

t.



3. The qualitY

strength (in

for the exPe

Which Para

b,reaking stt

b) lnterpret the meaning of the multiple coefficient of determination and adjusted R2 for this problern'

a)

c) Determine whether there is a significant rerationship between sares and the two independent variables (ra

advertising and news paper advertising)'

d) Determine whether each independent variabre makes a significant contribution tothe y'egression moder'

:

1

onthebasisoftheseresultsindicatetheindependentvariablestobeincludedinthismodel'
r'

b) State the n

Nullhypotl

Alternativ

c) Using the

What sta

Statistici

Conclusl

e) lf apprc

Post-ho

d)

e)lnterpretthemeaningofthecoefficientsoftheindependentvariablesofthemodel.

SavetheSPSSoutputfileobtainedforquestion02withthenameAdvertiseintothefolderQ02 What i

tTotal20Mar



\
13' The quality control director for a clothing manufacrurer wants to itu$v the effect of machines ;i ,li breaking

strength (in Kc) of woolserge material. 36 square-meter pieces werf rs.qdomlv?*enddGo?St& oin*i.*r,j;r;;;;;
for the experiment. The results of the experiment are recorded *nicrltfujh:ne oatjite er""trt.r"r)='-l

a)Whichparametricstati5ticaltechniquecouldbeusedtodetermine.'"i@*-ryswaf;,:,ninesonthe
breaking strength?

state the null and alternative hypotheses to perform parametric statisticar technique that you choose in part (a).

Nullhypothesis:..................

r0

b)

Alternative hypothesis:

c) Using the mean plot, state whether there are differences among machines on breaking strength.

what statistical decision can be made at 0.05% level of significance? state your conclusion.
.,, d)

T.
Conclusion:

I

i"l

I

i

e) lf appropriate' do the Post-hoc analysis to examine the differences arnong machines and interpret the results of the
Post-hoc analysis.

I

I

I
!

4.'.f
I

i

i

in
,tf

what assumptions should you check for when using the technique that you choose in part {ai?



L

g) lf the assumption(s) you made in part (d) is/are not valid, what atternative method do you propose to perform

analysis?

Save the SPSS output file obtained for question 03 with the name Breakstr into the folder Q 03

(Total l8Mar

04. The 219 full-time students of a university were surveyed to determine whether car ownership and residency

related to each other. The survey data were analysed and the SPSS outputs were given below.

Do you own a car * Resident at university hostel or traveler Cross tabulation

Resident at university hostel or
Traveler

Total
Resident at

university hostel Traveler

Do you own a car Yes Sount 6 7Z 78

Expected Count L7.8 50.2 78.0

No Count 44 '97 L4t

Expected Count 32.2 " 108.8 141.0

Total Count 50 ', L69 2]9

Expected Count 50.0 169.0 219.O

1
Chi-Square Tests

Value df Asymp. Sig. {2-sided}

Pearson Chi-Square 15.759" 1 .000

Likelihood Ratio 17.952 1 .000

Linear-by-Linear

Association
t7.952 L .000

N of Valid Cases 2L9

a. 0 cells (0%) have expected count less than 5. The minimum expected count is t7.81-.

a) State the null and alternative hypotheses for the above analysis



g

b) What statisticat decision can be made dt 1% level of significance? State your conclufu3. AUG 2013

-*{SiVe RSr'ii:

Conclusion:

c) How do the results from the chi-square test compare to your interpretations based on the Crosstabulation table?

Save the SPSS output file obtained for question 04 with the name crosstab into the folder Q 04

(TotallzMi

A tire company wants to determine whether a new steel-belted radial tire lasts longe/than'the company's cu

model. On 20 randomly selected cars, one of each type of tire is installed on the rear ryheels and the cars are dt

until the tires wear out. The number of km until wear-out occurred is recorded and stored in the file Tire.sav' Per

the Paired samples t-test to determine whether new steel-belted radial tire is superior. "..

a) lnterpret the SPSS output titled Po,rredSamples Stot,stics

1

I

b) lnterpret the SPSS output titled Poired Somples carreldtions

r*

State the null and alternative hypotheses for the above problem'

I

c)



t

d, what statistical decision can be made at 5% level of significance? state your conclusion.

Statistical decision:

what assumptions shourd you check for when performing paired sampres t-test?

lf the assumption(s) you made in part te) is/are not valid, what non-parametric technique do you propose to performthe analysis?

save the sPss output fire obtained for questjon 05 with the name rire into tf;e forder e 05

(Total 15Marks)

1
save folders Q 01, q 02, q 03, Q 04, Q 0s in to the folder named with your index number {MS/coM xxxx}


